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I Shophh I 1 100000 100000

2 $hr1up{huuur\uL duu[ {up[2 I 1 88312 88312

3 2ur2t{urquh I I 88312 88312

4 Qnpbu{up 1 I 88312 88312

5 $pruqrupurhurl[b pudh[ {up[2 1 I 88312 88312

6 $purlurpurhur{urp 74 t4 88312 r236368

7 I 353248

8
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rhr nrrr ohrrrrr nnn

I I 88312 88312

9 bp\puqlruur\urh purhqrupurtrfr $nhrlurqurh I 1 88312 88312

10 bpfuruqlruur\tutr prutrqurpurh[ hu\f 2 I 1 88312 88312

1t Tlurur\tpurupurhlr qlrurur2]uruurnrl I 7 883'12 88312

t2 tlutn\tpuupurhh hu\lr: 2 2 88312 176624

13 U. fuurhqruryurtrlr urnttr purhq. r{urp[r2 I 1 88312 88312

t4 U. fuuhquuguhlr urnth purtrq. qfrurur2]u I 1 88312 88312

15 Otunp[ upuh[ q]ruu2[uutnnrl I 1 88312 88312

16 bpurd2rnur\urL [urlp[ th[u{up I 1 88312 88312

L7 bpurd2rn. ]uilpf uLrltuilLhp 13 t3 88312 1148056

l8 Uhpnr1|ruur 2 2 88312 176624

l9 Oqtpunnnp-uqruuurp\nr1 I I 88312 88312

20 SLubu{urp I I 88312 88312

2t Odubrlu\puhtlnp I 1 88312 88312

22 2utlurpupurp 3 3 88312 264936

23 tluhur\ 2 2 88312 176624

Chrputlhtrp 56 56 4957160


